
On reaching the age, membership to the Happy Town's '60's Club is automatic and 2013 saw the admission of six new married

members but not all at the same time, Peter, Tom, Sandy, Paula, Sally and Trisha. From this information and the following

clues, for each couple, can you determine the husband, the wife and the period in which they became members?

1. No husband or wife has the same initial as the other.

2. Couple #2 are the youngest.

3. Tom's birthday is on 31st January.

4. Neither Sandy nor Peter is the husband in Couple #1.

5. Sally is four months younger than Tom.
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On reaching the age, membership to the Happy Town's '60's Club is automatic and 2013 saw the admission of six new married

members but not all at the same time, Peter, Tom, Sandy, Paula, Sally and Trisha. From this information and the following

clues, for each couple, can you determine the husband, the wife and the period in which they became members?

1. No husband or wife has the same initial as the other.

2. Couple #2 are the youngest.

3. Tom's birthday is on 31st January.

4. Neither Sandy nor Peter is the husband in Couple #1.

5. Sally is four months younger than Tom.

© AhaPuzzles.com
Answers are for teacher and educator use only. Not for

public distribution. For educational settings exclusively.

Play More Logic Puzzles

ahapuzzles.com/x/logic-puzzles

MORE

BRAIN

BASHERS

The '60's Club
Logic Puzzle

Trisha

Sally

Paula

Sept - Dec

May - Aug

Jan - April

Couple #3

Couple #2

Couple #1

Sep
t -

 D
ec

May
 - A

ug

Ja
n -

 A
pr

il

Tr
ish

a

Sall
y

Pau
la

San
dy

To
m

Pete
r

PeriodWifeHusband

W
ife

Pe
rio

d
C
ou

pl
e

© A
ha

Puz
zle

s.c
om

Couple #3

Couple #2

Couple #1

PeterPeter

SandySandy

TomTom

SallySally

TrishaTrisha

PaulaPaula

May - AugMay - Aug

Sept - DecSept - Dec

Jan - AprilJan - April

PeriodWifeHusband

P
la

y
 T

h
is

 L
o

g
ic

 P
u

z
z

le

a
h

a
p

u
z

z
le

s
.c

o
m

/x
/l

p
/7

6

https://www.ahapuzzles.com/x/main/home/?src=ALGP24&evt=copyright-footer/click
https://www.ahapuzzles.com/x/logic-puzzles/?src=ALGP24&evt=play-more/click
https://www.ahapuzzles.com/x/main/home/?src=ALGP24&evt=logo/click
https://www.ahapuzzles.com/x/lp/76/?src=ALGP24&evt=link-widget/click

